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2015 :
POWER SYSTEM - 11
Fratfa aua . @ d?) [l 3w 70
Time allowed : Three Hours| [Maximum Marks : 70

. (i) FEwHE HEaE & 9§ g el ofe & 37 §iag

Note !

Question No. 1 is compulsory, answer any five questions from the remaining.

(i) T 9T & T ST %1 FHEA UF QY & FHAU |

L)

(i)

(ni)

(1v)

(V)

Solve all parts of a question consecutively together.

(iii) WA HT F A9 G F HOH AT |

Start each question on a fresh page.

(iv) @ st ® s gl @l Redfer | aiget e & AR

Onlv English version is valid in case of difference in both the languages.

I Tivedl GEVT & &iE & A fefad |
Write any two advantages of high voltage transmission.
feriaft w1 st & am fefad |

Write names of supports of overhead lines.

% FRT T At I 9T fefad |

Write effect of ice on line sag.’

i sfaet o urg Hiw & Iuan f@had |

Write use of metal sheath in underground cable.
TEw e @ o oy fafEd

Write difference between guys and stay. (2x5)
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(2) 1922
FET TG & ateedl WK & 999 H {1 G2kl o1 & 7@ AeT § 2 Ty |
What factors are to be considered for sclection of voltage level of transmission
line ? Explain.
T, G davo yonferdi & @ 3 st et

Write the advantages and disadvantages of AC und DC ransmission system.  (6+6)

Explain string efficiency and derive expression.
e TTeTh & WK folfd & 376 &g 9 g1 ot feafed |

Write types of line conductors and also write their advantages and disadvantages. (6+6)

e 9g4 W &EA & a1d 961 W oo feifad | §e0 @A 9 A e s
iy Fxen € 2

Write effect on tensile force on line when sag is increased. On what factors sag
of transmission line depends ?

300 et fawar gt 2t aras m@ O e gd IRt aes @ g T sifed g
TEAE W IR 1977 kg'km. T G999 Arred 18230 kg, g4 ONF 2.5, AEAF &
=T 2.989 cm 3T e W AGEE 120 kg/m? & |

Find the sag of a overhead line having a span of 300 mctre between line
supports. If weight of conductor is 1977 kg'’km, ultimate strength is 18230 kg.
safety factor is 2.5, diameter of conductor 1s 2.989 ¢m and wind pressure on
conductor is 120 kg/m?. (6+6)

qege FETT AR &l 2701 Ug -an e @ T oty 51 aum =

Describe the T method for finding efficiency and regulation of medium
transmission line.

HYOT AT 1 aillentor sifsd aur $Uve! e T THERET |

Classify transmission lines and explain Ferranu etfect. (6+6)

A fl W sraTH aieea @ id T9E ¥ § 9iRka SLE1. e § 3Aan dieedl &
fag & =91 7 Hifag |

Derive the expression for point of minimum potential for a unitormly loaded
teeder fed at both ends with uncqual voltage.
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(3) 1922
% R DC faa® AB, 600 HIT o1 €, T ueRaiEa € ;

ARG (e | 150 300 | 350 | 400

(T ) 100 | 200 [250 | 300

ity Fag A OT SieER 400 T B 9T 430 AT ¥ 1 3K we Setn &1 i 0.01Q

“ufit 100 Hiex &, a@ A fat W faga wy wm Fid

A two wire DC distributor AB. 600 metre long is loadu‘i as under :

I Distance from A (metres) [ I:'»U—l 300 | 350 | 400 ‘

| Loads in Ampere | 100 | 200 | 250 | 300 |

The feeding point A is maintained at 400 V and that of B at 430 V. If each
conductor has a resistance of 0.01 Q per 100 metres. then mui current at the
end A. http://www.rtuonline.com (6+6)

et W & fafe=t fafual i oo Sifad o sae o fofad
Explain various methods of cable grading and write its advantages.
T % @, T TR UE & 1 i i |

Describe stringing up conductors, guys and stays. (6+6)

frer ® § el ot oT S femfog? fefad

Write short notes on any two of the following :

(1)

S TR Sl A

Errection of line supports

(iiy T feos

Ring Distributor

(i) Hiaet % o & gifdr

Advantages and disadvantages of cables
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